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Name: __________________________________



1
How many times larger than [image: image1.png]


 is [image: image2.png]5x



?

	1)
	20

	2)
	9

	3)
	[image: image3.png]




	4)
	[image: image4.png]






2
What is half of [image: image5.png]


?

	1)
	[image: image6.png]




	2)
	[image: image7.png]




	3)
	[image: image8.png]




	4)
	[image: image9.png]






3
What is one-third of [image: image10.png]


?

	1)
	[image: image11.png]




	2)
	[image: image12.png]




	3)
	[image: image13.png]




	4)
	[image: image14.png]






4
The quotient of [image: image15.png]


, is

	1)
	[image: image16.png]_3x°





	2)
	[image: image17.png]107!

4





	3)
	[image: image18.png]_3x¢





	4)
	[image: image19.png]_10x°

5







5
The expression [image: image20.png]-32x°
4

x=10



, is equivalent to

	1)
	[image: image21.png]8x’





	2)
	[image: image22.png]8"





	3)
	[image: image23.png]_gx’





	4)
	[image: image24.png]_8x¢







6
When [image: image25.png]_gx°



 is divided by [image: image26.png]3x% kw0



, the quotient is

	1)
	[image: image27.png]_3x°





	2)
	[image: image28.png]3x°





	3)
	[image: image29.png]15





	4)
	[image: image30.png]27x"







7
Which expression represents [image: image31.png](22
)
AX(SXS)




 in simplest form?

	1)
	[image: image32.png]




	2)
	[image: image33.png]




	3)
	[image: image34.png]4x°





	4)
	[image: image35.png]4%







8
The expression [image: image36.png]


 is equivalent to

	1)
	[image: image37.png]




	2)
	[image: image38.png]4w’y





	3)
	[image: image39.png]Oy





	4)
	[image: image40.png]o’y







9
Which expression represents [image: image41.png]2%y

9y



 in simplest form?

	1)
	[image: image42.png]3yt





	2)
	[image: image43.png]iy





	3)
	[image: image44.png]18x 1yt





	4)
	[image: image45.png]18x%;
8y’







10
The expression [image: image46.png]242%y°
“6xy




 is equivalent to

	1)
	[image: image47.png]4%y





	2)
	[image: image48.png]4%y





	3)
	[image: image49.png]4%y





	4)
	[image: image50.png]4%y







11
Which expression represents [image: image51.png]


 in simplest form?

	1)
	[image: image52.png]_2ac’





	2)
	[image: image53.png]_2ac





	3)
	[image: image54.png]-2¢’





	4)
	[image: image55.png]-2







12
The expression [image: image56.png]5287

=y




 is equivalent to

	1)
	[image: image57.png]5x%y





	2)
	[image: image58.png]4





	3)
	[image: image59.png]sxity?





	4)
	[image: image60.png]






13
The expression [image: image61.png]


 is equivalent to

	1)
	[image: image62.png]2





	2)
	[image: image63.png]¥





	3)
	[image: image64.png]2xy





	4)
	[image: image65.png]~2xy







14
The product of [image: image66.png]


 and [image: image67.png]21y°
207



, expressed in simplest form, is

	1)
	[image: image68.png]




	2)
	[image: image69.png]£
5





	3)
	[image: image70.png]12x°
ZZx 'yE
O
0xty?





	4)
	[image: image71.png]34x%y?
140x%y?







15
Simplify: [image: image72.png]27’ m®
(k> (om?)






1
ANS:
1

[image: image73.png]Bl




REF:
080213a

2
ANS:
4

[image: image74.png]



REF:
060813ia

3
ANS:
3

[image: image75.png]



REF:
061219ia

4
ANS:
3
REF:
060005a

5
ANS:
4
REF:
060707a

6
ANS:
2
REF:
080405a

7
ANS:
3

[image: image76.png]@)Er) 162

- 4x




REF:
fall0703ia

8
ANS:
1
REF:
061103ia

9
ANS:
1
REF:
060903ia

10
ANS:
4
REF:
011503ia

11
ANS:
4
REF:
061018ia

12
ANS:
2
REF:
080526a

13
ANS:
1
REF:
010817a

14
ANS:
2
REF:
081311ia

15
ANS:


[image: image77.png]#'m®





REF:
010932ia

